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1 2 3 4
2009/1/22 2009/2/9 2010/1/4 2010/1/6 2010/1/8 2010/1/12

8-1 B-R 10 7 88 87 88 88
8-2 B-T 3 7 66 65 66 66
8-3 A-R 0.96 15 42 41 42 42
8-4 A-T 0.095 15 38 34 39 40
8-5 0.020 0.037 29 28 29 30
8-6 0.0015 0011 20 20 20 21
8-7 0.0011 0011 10 8 10 11
8-8 0.0016 0011 8 8 7 8
8-9,10 0.058 16 14 14 14 14
8-11,12 0.83 16 17 17 17 17
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1 2 3 4
2010/1/4 2010/1/6 2010/1/8 2010/1/12
8-910 = 8-11,12 22 22 22 22
8-9,10 8-7 20 19 20 21
8-1112 = 8-7 23 21 22 23
8-9,10 8-5 38 36 37 38
8-1112  8-5 41 38 40 41
8-8 8-6 27 23 22 26
8-8 8-7 5 4 5 4
8-6 8-7 21 20 21 22
8-7 8-5 33 - 32 34
8-3 8-4 A-R A-T 52 50 53 53
8-1 8-2 B-R B-T 93 93 95 95




B A B A
! 371 371 2000 2000 500 800 800 125
A
! 300 300 600 600 440 400 400 400
Vv
2 40 66 ° 14 17 11 8 21 30
MQ
4 186 186 1000 1000 250 400 400 63
mA
5 0.008 0.005 0.043 0.035 0.04 0.05 0.019 0.013
mA
1
2 201071712
3 R T
4 mA = A x 1/2000 x 1000
5 mA VvV =+ MQ x 1000
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